

k –division Fibonacci-Pell sequences and their applications

Elahe Mehraban^{1,2,✉}, Omur Devenci³, Evren Hincal^{1,2,4}

¹ *Mathematics Research Center, Near East University TRNC, Mersin 10, 99138 Nicosia, Turkey*

² *Department of Mathematics, Near East University TRNC, Mersin 10, 99138 Nicosia, Turkey*

³ *Department of Mathematics, Faculty of Science and Letters, Kafkas University 36100, Turkey*

⁴ *Research Center of Applied Mathematics, Khazar University, Baku, Azerbaijan*

ABSTRACT

In this paper, we present a method for constructing a new sequence, which we call k –division sequence and denoted by $h_n(k)$. Using Fibonacci and Pell sequences, we define the k –division Fibonacci-Pell sequence obtain its properties, and prove that this sequence is periodic. Then, as an application of the sequence, we define 1–division Fibonacci-Pell sequence on finite groups and study it in the groups G_m and $H_{(u,l,m)}$ groups.

Keywords: period, Fibonacci sequence, Pell sequence, p –group

2020 Mathematics Subject Classification: 20F05.

1. Introduction

Sequences are important used in mathematics and other sciences (see [2, 7, 18, 16]). Among the very important sequences that can be used are Fibonacci, Pell, and Balancing numbers and their generalizations ([14, 15, 13]).

The Fibonacci and Pell sequences are defined as follows.

The Fibonacci sequence $\{F_n\}_{n=0}^{\infty}$ is defined by

$$F_n = F_{n-1} + F_{n-2}, \quad n \geq 0, \quad (1)$$

with initial conditions $F_0 = 0$, $F_1 = 1$.

✉ Corresponding author.

E-mail address: e.mehraban.math@gmail.com (E. Mehraban).

Received 13 January 2025; Accepted 28 April 2025; Published 26 June 2025.

DOI: [10.61091/um123-06](https://doi.org/10.61091/um123-06)

© 2025 The Author(s). Published by Combinatorial Press. This is an open access article under the CC BY license (<https://creativecommons.org/licenses/by/4.0/>).

The Pell sequence $\{P_n\}_{n=0}^{\infty}$ defined by

$$P_n = 2P_{n-1} + P_{n-2}, \quad n \geq 0, \quad (2)$$

with initial conditions $P_0 = 0$, $P_1 = 1$.

The characteristic polynomials of Fibonacci and Pell sequences are $x^2 - x - 1$ and $x^2 - 2x - 1$, respectively.

Number theoretic properties were investigated of the k -step generalized Pell sequence by Kilic and Tasci [11]. The authors of [10] defined the generalized Fibonacci and Pell sequence on Hessenberg. [4], Deveci and Karaduman redefined this sequence by group elements. In their paper Deveci and Karaduman studied in detail in finite groups on the k -step generalized Pell sequence. In [5], introduced the quaternion-Pell sequence and studied some properties of it. In [19], the connections between Pell numbers and Fibonacci p -numbers were studied. A generalized order k -Pell sequence was obtained for some special types of nilpotency in [8]. In [12], studied the k -Pell sequences of the 2-generator p -groups of nilpotency class 2.

For $m, u, l \in \mathbb{N}$, we consider the finitely presented group G_m and $H_{(u,l,m)}$ as follows

$$G_m = \langle a, b \mid a^m = b^m = 1, [a, b]^a = [a, b], [a, b]^b = [a, b] \rangle, \quad m \geq 2.$$

$$H_{(u,l,m)} = \langle a, b, c \mid a^u = b^l = c^m = 1, [a, b] = c, [a, c] = [b, c] = 1 \rangle.$$

Lemma 1.1. *Every element of G_m can be written uniquely in the form $a^i b^j [a, b]^k$, where $0 \leq i, j, k \leq m - 1$. (see [6]).*

Lemma 1.2. [17] *Every element of the Heisenberg group $H_{(u,l,m)}$ can be written uniquely as $a^i b^j c^k$ with $1 \leq i \leq u$, $1 \leq j \leq l$ and $1 \leq k \leq m$.*

Motivated by the above results, we construct new sequences. Using characteristic polynomials, we introduce a new sequence. Here, we use the Fibonacci and Pell sequences and give new sequences. Then, we study some results. Also, we use these sequences in group theory.

The remainder of this paper is organized as follows. In Section 2, we introduce the k -division Fibonacci-Pell sequences and prove that these are periodic. The k -division Fibonacci-Pell sequences in a finite group are presented in Section 3 and studied on G_m and $H_{(u,l,m)}$ groups.

2. The k -division Fibonacci-Pell sequences

In this section, first, we present a new method for constructing sequences and named the k -division sequence. Then, we define the k -division Fibonacci-Pell sequences and get some results.

Definition 2.1. Let $f(x)$ and $g(x)$ be the characteristic polynomials of two arbitrary sequences and degree u and m where $m \geq u$, respectively. For $k \in \mathbb{N}$, the k -division

sequence, $\{h_n(k)\}_{n=0}^\infty$ is defined by

$$h_n(k) = x^k(g(x)) + t(x), \quad n \geq k + m, \tag{3}$$

where $t(x)$ is the remainder of division $\frac{x^k(g(x))}{f(x)}$ and with initial conditions $h_0(k) = h_1(k) = \dots = h_{m+k-2}(k) = 0, h_{m+k-1}(k) = 1$.

Here, we define the 1-division Fibonacci-Pell sequence as follows. We consider Fibonacci and Pell sequences. Suppose that $k = 1$. We have $f(x) = x^2 - x - 1$ and $g(x) = x^2 - 2x - 1$. By Definition 2.1, we define a new sequence as follows.

Definition 2.2. If $k = 1$, the 1-division Fibonacci-Pell sequence defined as follows

$$h_n(1) = 2h_{n-1}(1) + 2h_{n-2}(1) + h_{n-3}(1), \quad n \geq 3, \tag{4}$$

with initial conditions $h_0(1) = h_1(1) = 0, h_2(1) = 1$.

The 1-division Fibonacci-Pell sequence modulo α ,

$$\{h_n^\alpha(1)\} = \{h_0^\alpha(1), h_1^\alpha(1), \dots, h_i^\alpha(1), \dots\},$$

where $h_i^\alpha(1) = h_i(1) \pmod{\alpha}$.

Theorem 2.3. *The 1-division Fibonacci-Pell Sequence $\{h_n^\alpha(1)\}$ is simply periodic.*

Proof. Suppose that $X_3 = \{(x_1, x_2, x_3) \mid x_i \in \mathbb{N} \text{ and } 1 \leq x_i \leq \alpha\}$. So that we have $|X_3| = \alpha^3$. Since there are α^3 distinct 3-tuples of elements of Z_α , at least one of the 3-tuples appears twice in the sequence $\{h_n^\alpha(1)\}$. Then the subsequence follows this 3-tuple. Thus, it is obvious that the sequence $\{h_n^\alpha(1)\}$ is periodic.

Hence, it is clearly for $w \geq 0$, there exist $w \geq v$ such that

$$h_w^\alpha(1) \equiv h_v^\alpha(1), \quad h_{w+1}^\alpha(1) \equiv h_{v+1}^\alpha(1), \quad h_{w+2}^\alpha(1) \equiv h_{v+2}^\alpha(1).$$

By definition of 1-division Fibonacci-Pell sequence, we have

$$h_n(1) = 2h_{n-1}(1) + 2h_{n-2}(1) + h_{n-3}(1).$$

Thus, we can easily derive that

$$h_{w-v}^\alpha(1) \equiv h_0^\alpha(1), \quad h_{w-v+1}^\alpha(1) \equiv h_1^\alpha(1), \quad h_{w-v+2}^\alpha(1) \equiv h_2^\alpha(1),$$

which indicate that 1-division Fibonacci-Pell sequence is simply periodic. □

We use $Kh_m(1)$ to denote the minimal period of 1-division Fibonacci-Pell sequence modulo m . In Table 1, we calculate $Kh_m(1)$, for $2 \leq m \leq 31$.

Lemma 2.4. *For integers s, n and $m \geq 2$, we have*

- (i) $h_{Kh_m(1)+n}(1) \equiv h_n(1) \pmod{m}$,
- (ii) $h_{s \times (Kh_m(1))+n}(1) \equiv h_n(1) \pmod{m}$.

Table 1. $Kh_m(1)$, for $2 \leq m \leq 31$

m	$Kh_m(1)$	m	$Kh_m(1)$	m	$Kh_m(1)$
2	3	12	78	22	399
3	13	13	168	23	22
4	6	14	171	24	156
5	8	15	104	25	40
6	39	16	24	26	168
7	57	17	307	27	741
8	12	18	39	27	342
9	39	19	360	29	67
10	24	20	24	30	312
11	133	21	741	31	993

Proof. The result follows by using the definition of the period of the 1–division Fibonacci-Pell sequence modulo m . (ii) We have

$$\begin{aligned}
 h_{s \times (Kh_m(1)) + n}(1) &\equiv h_{(Kh_m(1)) + (s-1) \times (Kh_m(1)) + n}(1) \\
 &\equiv h_{(s-1)(Kh_m(1)) + n}(1) \\
 &\equiv \dots \equiv h_n(1) \pmod{m}.
 \end{aligned}$$

The result is obtained. □

Lemma 2.5. *Let s be an integer and $m \geq 2$ is a positive number. If*

$$\begin{cases}
 h_s(1) \equiv 0 \pmod{m}, \\
 h_{s+1}(1) \equiv 0 \pmod{m}, \\
 h_{s+2}(1) \equiv 1 \pmod{m},
 \end{cases}$$

then $Kh_m(1) \mid s$.

Proof. There exists $0 \leq i \leq Kh_m(1)$ such that $s = t \times (Kh_m(1)) + i$. Also, $\forall 0 \leq j \leq 2$, $h_{s+j}(1) \equiv h_{i+j}(1) \pmod{m}$, then we have the following equations

$$\begin{cases}
 h_i(1) \equiv 0 \pmod{m}, \\
 h_{i+1}(1) \equiv 0 \pmod{m}, \\
 h_{i+2}(1) \equiv 1 \pmod{m},
 \end{cases}$$

So that i is a period of 1–division Fibonacci-Pell sequence modulo m . *i.e.* $Kh_m(1) \mid i$. Since $0 \leq i < Kh_m(1)$, we have $i = 0$. Therefore, we get the results. □

Now, For $k \geq 2$, we generalized k –division Fibonacci-Pell Sequence. By using Definition

Lemma 2.6. *Let $g_{h_n(m)}$ be the generating function of m -division Fibonacci-Pell sequence. Then,*

$$g_{h_n(m)} = \frac{x^{m+1}}{1 - 2x - x^2 - F_{m+1}x^{m+1} - F_m x^{m+2}}. \quad (7)$$

Proof. Let $g_{h_n(m)}$ be the generating function of the generating function of m -division Fibonacci-Pell sequence. We have

$$\begin{aligned} g_{h_n(m)} &= \sum_{n=1}^{\infty} h_n(m)x^n \\ &= h_1(m)x + h_2(m)x^2 + \cdots + h_{m+1}(m)x^{m+1} + \sum_{n=m+2}^{\infty} h_n(m)x^n \\ &= x^{m+1} + \sum_{n=m+2}^{\infty} (2h_{n-1}(m) + h_{n-2}(m) + F_{m+1}h_{n-(m+1)}(m) + F_m h_{n-(m+2)}(m))x^n \\ &= x^{m+1} + 2 \sum_{n=m+2}^{\infty} h_{n-1}(m)x^n + \sum_{n=m+2}^{\infty} h_{n-2}(m)x^n + F_{m+1} \sum_{n=m+2}^{\infty} h_{n-(m+1)}(m)x^n \\ &\quad + F_m \sum_{n=m+2}^{\infty} h_{n-(m+2)}(m)x^n \\ &= x^{m+1} + 2x \sum_{n=1}^{\infty} h_n(m)x^n + x^2 \sum_{n=1}^{\infty} h_n(m)x^n + F_{m+1}x^{m+1} \sum_{n=1}^{\infty} h_n(m)x^n \\ &\quad + F_m x^{m+2} \sum_{n=1}^{\infty} h_n(m)x^n \\ &= x^{m+1} + 2xg_{h_n(m)} + x^2g_{h_n(m)} + F_{m+1}x^{m+1}g_{h_n(m)} + F_mx^{m+2}g_{h_n(m)}. \end{aligned}$$

Thus,

$$g_{h_n(m)} = \frac{x^{m+1}}{1 - 2x - x^2 - F_{m+1}x^{m+1} - F_m x^{m+2}}.$$

□

Lemma 2.7. *The generating function of m -division Fibonacci-Pell sequence has the following exponential representation*

$$g_{h_n(m)} = x^{m+1} \exp \sum_{i=1}^{\infty} \frac{x^i}{i} (2 + x + F_{m+1}x^m + F_mx^{m+1})^i,$$

where $m \geq 2$.

Proof. By using (7), we have

$$\ln \frac{g_{h_n(m)}}{x^{m+1}} = -\ln(1 - 2x - x^2 - F_{m+1}x^{m+1} - F_mx^{m+2}).$$

Thus,

$$\begin{aligned}
 & -\ln(1 - 2x - x^2 - F_{m+1}x^{m+1} - F_mx^{m+2}) = -[-x(2 + x + F_{m+1}x^m + F_mx^{m+1}) \\
 & - \frac{1}{2}x^2(2 + x + F_{m+1}x^m + F_mx^{m+1})^2 - \dots - \frac{1}{i}x^i(2 + x + F_{m+1}x^m + F_mx^{m+1})^i - \dots],
 \end{aligned}$$

result has been achieved. □

3. The 1-division Fibonacci-Pell sequence in a finite group

In this section, we define the 1-division Fibonacci-Pell sequence in a finite group and prove that the 1-division Fibonacci-Pell sequence in a finite group is simply periodic. Also, we study this sequence on G_m and $H_{(u,l,m)}$. First, we define the 1-division Fibonacci-Pell sequence in a finite group as follows.

Definition 3.1. The 1-division Fibonacci-Pell sequence in a finite group is a sequence of group elements $x_0, x_1, \dots, x_n, \dots$ for which, given an initial (seed) set in $X = \{a_1, a_2, \dots, a_j\}$, each element is defined by

(i) If $j = 2$, then $x_0 = a_1, x_1 = a_2$ and $x_2 = a_1^2 a_2^2$,

$$x_n = x_{n-3}(x_{n-2})^2(x_{n-1})^2, \quad n \geq 3. \tag{8}$$

(ii) If $j \geq 3$, then $x_0 = a_1, x_1 = a_2, \dots, x_j = a_j$ and

$$x_n = x_{n-3}(x_{n-2})^2(x_{n-1})^2, \quad n \geq j + 1. \tag{9}$$

The element of 1-division Fibonacci-Pell sequence in group are denoted by $Q(G, X)$ and its period is denoted by $hQ(G, X)$.

Theorem 3.2. *The 1-division Fibonacci-Pell sequence in group is simply periodic.*

Proof. Let G be a i -generator group and let $(a_0, a_1, \dots, a_{i-1})$ be a generating i -tuple for G . If $|G| = m$, then there are m^i distinct i -tuple of elements of G . Thus, at least one of the i -tuple appears twice in $Q(G, X)$. Because of the repetition, the sequence $Q(G, X)$ is periodic. Now, we show simply periodic. It is clearly, there is r and s in \mathbb{N} , with $s > r$ such that $x_{s+1} = x_{r+1}, x_{s+2} = x_{r+2}, x_{s+3} = x_{r+3}$. From (9), we written $x_{s-1} = x_{r-1}, x_{s-2} = x_{r-2}, x_{s-r} = a_0 = x_0 = x_{r-s}$. Thus, $hQ(G, X)$ is simply periodic. □

For $m \in \mathbb{N}$, we consider the finitely presented group G_m as follows

$$G_m = \langle a, b \mid a^m = b^m = 1, [a, b]^a = [a, b], [a, b]^b = [a, b] \rangle, \quad m \geq 2.$$

Set $h_n := h_n(1)$. Now, we obtain sequence w_n and c_n as follows

$$w_n = h_{n+1} - (h_{n-1} + h_{n-2}),$$

$$c_0 = c_1 = c_2 = 0,$$

$$\begin{aligned}
 c_n = c_{n-3} + 2c_{n-2} + 2c_{n-1} - (h_{n-2}w_{n-2} + (h_{n-2} + h_{n-1})w_{n-2} + (h_{n-2} + 2h_{n-1})w_{n-1} \\
 + (h_{n-2} + 2h_{n-1} + h_n)w_{n-1}), \quad n \geq 3,
 \end{aligned}$$

Lemma 3.3. *Every element of $Q(G_m, X)$ may be presented by $x_n = a^{w_n} b^{h_{n+1}} [a, b]^{c_n}$, $n \geq 3$.*

Proof. For $n = 2$ and $n = 3$, we have $x_2 = a^2 b^2$ and $x_3 = ab^2(a^2 b^2)^2 = a^5 b^6 [a, b]^{-12}$. Now, by induction on n , we have

$$\begin{aligned}
x_n &= x_{n-3}(x_{n-2})^2(x_{n-1})^2 \\
&= a^{w_{n-3}} b^{h_{n-2}} [a, b]^{c_{n-3}} (a^{w_{n-2}} b^{h_{n-1}} [a, b]^{c_{n-2}})^2 (a^{w_{n-1}} b^{h_n} [a, b]^{c_{n-1}})^2 \\
&= a^{w_{n-3}} b^{h_{n-2}} [a, b]^{c_{n-3}} a^{w_{n-2}} b^{h_{n-1}} [a, b]^{c_{n-2}} a^{w_{n-2}} b^{h_{n-1}} [a, b]^{c_{n-2}} (a^{w_{n-1}} b^{h_n} [a, b]^{c_{n-1}})^2 \\
&= a^{w_{n-3}+w_{n-2}} b^{h_{n-2}+h_{n-1}} [a, b]^{c_{n-3}+c_{n-2}-h_{n-2}w_{n-2}} a^{w_{n-2}} b^{h_{n-1}} [a, b]^{c_{n-2}} (a^{w_{n-1}} b^{h_n} [a, b]^{c_{n-1}})^2 \\
&= a^{w_{n-3}+2w_{n-2}} b^{h_{n-2}+2h_{n-1}} [a, b]^{c_{n-3}+c_{n-2}-h_{n-2}w_{n-2}-(h_{n-2}+h_{n-1})w_{n-2}} (a^{w_{n-1}} b^{h_n} [a, b]^{c_{n-1}})^2 \\
&= \dots \\
&= a^{w_{n-3}+2w_{n-2}+2w_{n-1}} b^{h_{n-2}+2h_{n-1}+2h_n} \\
&\quad [a, b]^{c_{n-3}+2c_{n-2}+2c_{n-1}-(h_{n-2}w_{n-2}+(h_{n-2}+h_{n-1})w_{n-2}+(h_{n-2}+2h_{n-1})w_{n-1}+(h_{n-2}+2h_{n-1}+h_n)w_{n-1})} \\
&= a^{w_n} b^{h_{n+1}} [a, b]^{c_n}.
\end{aligned}$$

Therefore, the assertion holds. \square

Lemma 3.4. *If $hQ(G_m, X) = s$ then s is the least integer such that all of the congruences*

$$\left\{ \begin{array}{l} w_s \equiv 1 \pmod{m}, \\ w_{s+1} \equiv 0 \pmod{m}, \\ w_{s+2} \equiv 2 \pmod{m}, \\ h_{s+1} \equiv 0 \pmod{m}, \\ h_{s+2} \equiv 1 \pmod{m}, \\ h_{s+3} \equiv 2 \pmod{m}, \\ c_s \equiv 0 \pmod{m}, \\ c_{s+1} \equiv 0 \pmod{m}, \\ c_{s+2} \equiv 0 \pmod{m}, \end{array} \right.$$

hold. Moreover, $Kh_m(1)$ divides $hQ(G_m, X)$.

Proof. By Lemma 3.3, we obtain $x_n = a^{w_n} b^{h_{n+1}} [a, b]^{c_n}$. Since $x_s = a$, $x_{s+1} = b$ and $x_{s+2} = a^2 b^2$, by Lemma 1.1, we have

$$\left\{ \begin{array}{l} w_s \equiv 1 \pmod{m}, \\ w_{s+1} \equiv 0 \pmod{m}, \\ w_{s+2} \equiv 2 \pmod{m}, \\ h_{s+1} \equiv 0 \pmod{m}, \\ h_{s+2} \equiv 1 \pmod{m}, \\ h_{s+3} \equiv 2 \pmod{m}, \\ c_s \equiv 0 \pmod{m}, \\ c_{s+1} \equiv 0 \pmod{m}, \\ c_{s+2} \equiv 0 \pmod{m}. \end{array} \right.$$

Thus, Lemma 2.5 proved that $Kh_m(1) \mid hQ(G_m, X)$. \square

Here, we consider Heisenberg group $H_{(u,l,m)} = \langle a, b, c \mid a^u = b^l = c^m = 1, [a, b] = c, [a, c] = [b, c] = 1 \rangle$ and define sequences g_n and S_n as follows.

$$\begin{aligned} g_n &= h_n - (h_{n-2} + h_{n-3}), \\ S_0 &= 0, S_1 = 0, S_2 = 1, \\ S_n &= S_{n-3} + 2S_{n-2} + 2S_{n-1} - (g_{n-3}h_{n-3} + h_{n-3}(g_{n-3} + g_{n-2}) + h_{n-2}(g_{n-3} + 2g_{n-2}) \\ &\quad + h_{n-2}(g_{n-3} + 2g_{n-2} + g_{n-1})), \quad n \geq 3. \end{aligned}$$

Lemma 3.5. *Every element of $Q(H_{(u,l,m)}, X)$ may be presented by $x_n = a^{h_{n-1}}b^{g_n}c^{S_n}$, $n \geq 3$.*

Proof. For $n = 3$, $n = 4$ and $n = 5$, we have $x_3 = ab^2c^2$, $x_4 = bc^2(ab^2c^2)^2 = a^2b^5c^2$ and $x_5 = c(ab^2c^2)^2(a^2b^5c^2)^2 = a^6b^{14}c^{19}$. Now, by induction on n , we have

$$\begin{aligned} x_n &= x_{n-3}(x_{n-2})^2(x_{n-1})^2 \\ &= a^{h_{n-4}}b^{g_{n-3}}c^{S_{n-3}}(a^{h_{n-3}}b^{g_{n-2}}c^{S_{n-2}})^2(a^{h_{n-2}}b^{g_{n-1}}c^{S_{n-1}})^2 \\ &= a^{h_{n-4}}b^{g_{n-3}}c^{S_{n-3}}a^{h_{n-3}}b^{g_{n-2}}c^{S_{n-2}}a^{h_{n-3}}b^{g_{n-2}}c^{S_{n-2}}(a^{h_{n-2}}b^{g_{n-1}}c^{S_{n-1}})^2 \\ &= a^{h_{n-4}+h_{n-3}}b^{g_{n-3}+g_{n-2}}c^{S_{n-3}+S_{n-2}-g_{n-3}h_{n-3}}a^{h_{n-3}}b^{g_{n-2}}c^{S_{n-2}}(a^{h_{n-2}}b^{g_{n-1}}c^{S_{n-1}})^2 \\ &= a^{h_{n-4}+2h_{n-3}}b^{g_{n-3}+2g_{n-2}}c^{S_{n-3}+2S_{n-2}-g_{n-3}h_{n-3}-h_{n-3}(g_{n-3}+g_{n-2})}(a^{h_{n-2}}b^{g_{n-1}}c^{S_{n-1}})^2 \\ &= \dots \\ &= a^{h_{n-4}+2h_{n-3}+2h_{n-2}}b^{g_{n-3}+2g_{n-2}+2g_{n-1}} \\ &\quad c^{S_{n-3}+2S_{n-2}+2S_{n-1}-(g_{n-3}h_{n-3}+h_{n-3}(g_{n-3}+g_{n-2})+h_{n-2}(g_{n-3}+2g_{n-2})+h_{n-2}(g_{n-3}+2g_{n-2}+g_{n-1}))} \\ &= a^{h_{n-1}}b^{g_n}c^{S_n}. \end{aligned}$$

Lemma is proved. \square

Theorem 3.6. *For $u \geq 1$, we have $Kh_u(1) \mid MQ(H_{(u,l,m)}, X)$.*

Proof. By Lemma 3.5, we obtain $x_n = a^{h_{n-1}}b^{g_n}c^{S_n}$. Suppose that $hQ(H_{(u,l,m)}, X) = i$. Since $x_i = a$, $x_{i+1} = b$ and $x_{i+2} = c$, by Lemma 1.2, we have

$$\left\{ \begin{array}{l} h_{i-1} \equiv 1 \pmod{u}, \\ h_i \equiv 0 \pmod{u}, \\ h_{i+1} \equiv 0 \pmod{u}, \\ g_i \equiv 0 \pmod{l}, \\ g_{i+1} \equiv 1 \pmod{l}, \\ g_{i+2} \equiv 0 \pmod{l}, \\ S_i \equiv 0 \pmod{m}, \\ S_{i+1} \equiv 0 \pmod{m}, \\ S_{i+2} \equiv 1 \pmod{m}. \end{array} \right.$$

So, Lemma 2.5 proved that $Kh_u(1) \mid hQ(H_{(u,l,m)}, X)$. \square

4. Conclusion

Considering the importance of sequences in all sciences, here we have presented a new method for constructing sequences and these sequences can be used in group theory, coding theory, cryptography, and other sciences. In this paper, we used the Fibonacci sequence and Pell sequence and defined the k -division Fibonacci-Pell sequence got its properties, and proved that this sequence is periodic. Then, as an application of the sequence, we defined k -division Fibonacci-Pell sequence in finite groups and studied it in G_m and $H_{(u,l,m)}$ groups. As future work, the new sequences presented in Definition 2.1 can be use use any sequence to obtain a k -division [1, 3, 9].

In conclusion, we have two open questions.

1. Prove or disprove
 - i. $hQ(G_m, X) = Kh_m(1)$.
 - ii. $hQ(H_{(u,l,m)}, X) = Kh_u(1)$.
2. Is it possible to prove that each finite group G divides the minimal period of 1-division Fibonacci-Pell sequence?

Conflicts of Interest

The authors declare that there are no conflicts of interest regarding the publication of this paper.

References

- [1] W. Abd-Elhameed and N. Zeyada. New identities involving generalized fibonacci and generalized lucas numbers. *Indian Journal of Pure and Applied Mathematics*, 49:527–537, 2018. <https://doi.org/10.1007/s13226-018-0282-7>.
- [2] F. Amounas and E. El Kinani. Ecc encryption and decryption with a data sequence. *Applied Mathematical Sciences*, 6(101):5039–5047, 2012.
- [3] M. Chelgham and A. Boussayoud. On the k-mersenne-lucas numbers. *Notes on Number Theory and Discrete Mathematics*, 27(1):7–13, 2021. <https://doi.org/10.7546/nntdm.2021.27.1.7-13>.
- [4] O. Deveci and E. Karaduman. The pell sequences in finite groups. *Utilitas Mathematica*, 96:263–276, 2015.
- [5] Ö. Deveci and A. G. Shannon. The quaternion-pell sequence. *Communications in Algebra*, 46(12):5403–5409, 2018. <https://doi.org/10.1080/00927872.2018.1468906>.
- [6] H. Doostie and M. Hashemi. Fibonacci lengths involving the wall number $k(n)$. *Journal of Applied Mathematics and Computing*, 20:171–180, 2006. <https://doi.org/10.1007/BF02831931>.
- [7] M. Esmaeili, M. Moosavi, and T. A. Gulliver. A new class of fibonacci sequence based error correcting codes. *Cryptography and Communications*, 9:379–396, 2017. <https://doi.org/10.1007/s12095-015-0178-x>.

-
- [8] M. Hashemi and E. Mehraban. The generalized order k -pell sequences in some special groups of nilpotency class 2. *Communications in Algebra*, 50(4):1768–1784, 2022. <https://doi.org/10.1080/00927872.2021.1988959>.
- [9] M. Hashemi and E. Mehraban. On the generalized order 2-pell sequence of some classes of groups. *Communications in Algebra*, 46(9):4104–4119, 2018. <https://doi.org/10.1080/00927872.2018.1435793>.
- [10] E. Kiliç and D. Taşci. On the generalized fibonacci and pell sequences by hessenberg matrices. *Ars Combinatoria*, 94:161–174, 2010.
- [11] E. Kiliç and D. Taşci. The generalized binet formula, representation and sums of the generalized order- k pell numbers. *Taiwanese Journal of Mathematics*, 10(6):1661–1670, 2006. <https://doi.org/10.11650/twjmath/1500404581>.
- [12] E. Mehraban and M. Hashemi. Fibonacci length and the generalized order k -pell sequences of the 2-generator p -groups of nilpotency class 2. *Journal of Algebra and Its Applications*, 22(03):2350061, 2023. <https://doi.org/10.1142/S0219498823500615>.
- [13] E. Mehraban, T. A. Gulliver, S. M. Boulaaras, K. Hosseini, and E. Hincal. New sequences from the generalized pell p - numbers and mersenne numbers and their application in cryptography. *AIMS Mathematics*, 9(5):13537–13552, 2024. <http://dx.doi.org/2010.3934/math.2024660>.
- [14] E. Mehraban and M. Hashemi. An application of the t -extension of the p -fibonacci pascal matrix in coding theory. *Advances in Mathematical Physics*, 2022(1):4619136, 2022. <https://doi.org/10.1155/2022/4619136>.
- [15] E. Mehraban and M. Hashemi. Coding theory on the generalized balancing sequence. *Notes on Number Theory and Discrete Mathematics*, 29(3):503–524, 2023. <https://doi.org/10.7546/nntdm.2023.29.3.503-524>.
- [16] T. Négadi. Fibonacci-like sequences reveal the genetic code symmetries, also when the amino acids are in a physiological environment. *Symmetry*, 16(3):293, 2024. <https://doi.org/10.3390/sym16030293>.
- [17] D. Osipov. The discrete heisenberg group and its automorphism group. *Mathematical Notes*, 98(1):185–188, 2015. <https://doi.org/10.1134/S0001434615070160>.
- [18] K. Prasad and H. Mahato. Cryptography using generalized fibonacci matrices with affine-hill cipher. *Journal of Discrete Mathematical Sciences and Cryptography*, 25(8):2341–2352, 2022. <https://doi.org/10.1080/09720529.2020.1838744>.
- [19] A. G. Shannon, Ö. Erdağ, and Ö. Deveci. On the connections between pell numbers and fibonacci p -numbers. *Notes on Number Theory and Discrete Mathematics*, 27(1):148–160, 2021. <https://doi.org/10.7546/nntdm.2021.27.1.148-160>.